
f (x) = f (n) (x0 )
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(x − x0 )
n

n=0
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∑

• (1+ x)n ≈ 1+ nx

• sin x ≈ x

• cos x ≈ 1− x2
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• ex ≈ 1+ x • ln(1+ x) ≈ x

• tan x ≈ x

• sin−1 x ≈ x

• tan−1 x ≈ x

• cos−1 x ≈ π
2
− x

Integral Table

sin2φ dφ
0

2π

∫ = cos2φ dφ
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∫ = π

eiθ = cosθ + i sinθ
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Taylor

cosa cosb = 1
2 cos(a + b) + cos(a − b)[ ]
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sin(a + b) = sina cosb + cosa sinb
cos(a + b) = cosa cosb − sina sinb

Complex Numbers

sina sinb = 1
2 cos(a − b) − cos(a + b)[ ]

1st order approx for           :   x 1

Conceptual 
version: 
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v ≡ v ⋅ v

cos3θ dθ∫ = sinθ −
sin3θ
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